R3S

A AL 5

TR R &K

1 HERTEZOLF N FKEE B it s A S (2D 8)
2 GETROWEE (35 ) ABUET RS HiN
B 2 ZLEDATHREAET 1=1,480m (F&H)
HHREE T vy, vwik-vs) N=74f57 (&)
BN T 1=1, 480m (#&[H)
AT X EEHT R WEEESR R
3 ¥ ® L M S5 4E8H 3 H~SF54E10H31H
4 AFLFITH GHPT) SSHETH2TH (EFAL AT L)
5 AL (32K) %8 4 6,204,000 F (BiA)
6 WALE (B U4 ) et DhEgRRse e (R EREE  BmORK
g2 AT) )\ & o\ g k68 3 i 7
T T E K 46,699,000 [ (BiiA)
8 i A i Y fifh 4% —
9 T UH LR —
10 f 15 i1 BR Al k% —
11 AfLEFOREOAFLEEE Bitk)
AL & 4 | mIEARLeE \B2EAML G fi b2
(bR e B s Bl 2 5, 640, 000 \ 5L (92.61%)
WILERY % —( 5, 810, 000 \
(b = Fnis I 5, 880, 000 \
A T P 5, 980, 000 \
R =y 7 U —F
T FREE 6, 000, 000
e B

AT L FAKGEER




